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Q:-1. A sum of 8,000 invested at 10% p.a. amounts to 9,261 in a
certain time, interest compounded half-yearly. What will be the
compound interest (in) on the same sum for the same time at
double the earlier rate of interest, when interest is compounded
annually?

10% Td a9 T T 9 FT T 8,000 FT TTX TS Mg a9 |

9,261 &, STl -t % €T F GO gIaT gl THIT T I T8 hi
SATST X F TRAT & 9 FHIF A IR FAhd (e AT (H) FIT R, ST
SATST AU €T F GO (AT ATAT 872
(a)2520
HPZEN
(€)2560

(d)2500




Q:-1. A sum of 8,000 invested at 10% p.a. amounts to 9,261
in a certain time, interest compounded half-yearly. What will
be the compound interest (in) on the same sum for the
same time at double the earlier rate of interest, when
interest is compounded annually?

10% T a9 T T T Ha9r T T3 8,000 T T TH AiSra a9

" 9,261 g, sATS A-ATTUF €T & AT 3IdT gl THTT (A I
Tget i SITST G | IR[AT &< I THTT L1 I TAhg (g AT ()
ERIALIRSERRIS Wwﬁ@ﬁa%w%’?

(2)2520

(b)2480

(d)2500




Q:-2. A sells an article to B at a loss of 20%, B
sells it to C at a profit of 12.5% and C sells itto D
at a loss of 8%. If D buys it for 248.40, then what
is the difference between the loss incurred by A
and C?

A TH T FT B F7 20% H g ax s=ar @, BT C

FT 12.5% % AT 9L 49T ¢ 3T C 0 D FT 8% it
g 9 99T gl Tfe D 37 248.40 & @diear g, ar A
3 C g i T g1 & o 1= T (d< FAT 87
(2)36.80

(b)38.40

(c)42.60

(d)39.20




Q:-2. A sells an article to B at a loss of 20%, B
sells it to C at a profit of 12.5% and C sells itto D
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Q:-3. 4 men and 6 women can complete a certain
piece of work in 5 days whereas 3 men and 4
women can complete it in 7 days. How many men
should assist 25 women to complete 2.5 times the
same work in 5 days?

4 &Y AT 6 AigAT TH AT & v 5 fodT § T AT

qohd & STt 3 [TT Sli¥ 4 AigATd 29 7 faqi §# W <
Tohd o fha= T2AT T 25 AigAT3N il IHT FHA F°7 2.5
AT 5 oA & QT A | Gg1IdT HiAl ATg?

(a)8

(b)10

(c)4

(d)5
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Q:-4. How many numbers are there from
200 to 800 which are neither divisible by 5
nor by 77?

| 200 & 800 T UHT fFha"l H=ATU g STA A5 &
| Bvsa g s a R 737

| (a) 407
(b) 410
(c) 413
(d) 411
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Q:-4. How many numbers are there from
200 to 800 which are neither divisible by 5
nor by 77?
| 200 & 800 = UHT ot FeqU & STAAN5 &
| AT g iR A S 7 |7

| (a) 407
(b) 410
. (c) 413




atE IfAE-12cm BE =20.25cm and CE =3
DE, then the length (in cm) of CE is:

T <0 & Stiar AB ¥ CD 9% Ya=s #<d gl I
AE = 12 97, BE = 20.25 947 siix CE = 3 DE &g,
ar CE it sidrs (/1 7) |1 87

(a) 27
(b) 25.5
(c) 18
(d) 28.5




Q:-5. The chords AB and CD of a circle intersect at E. If

AE =12 cm, BE = 20.25 cm and CE = 3 DE, thenthe | [ (I
length (in cm) of CE is: R
U g & St 19T AB 3T CD 9T Ia=sc FXd 8l i< AE = 12

1Y, BE = 20.25 37 3fix CE = 3 DE g, a7 CE # =f=rs

GRIE ) ERLEY,

(b) 25.5
(c) 18
(d) 28.5
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Q:-6. The area of a field in the shape of a regular
hexagon is 2400 /~3m?2. The cost of fencing the field at
16.80/meter is:

T (AT TS % TR H Teh & T &ATh 2400 /'3
91 H1eT 81 16.80/H1e< X & il AT M i AT FAT

37

(a) 4536
(b) 3024
(c) 4032
(d) 3528
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Q:-7. If the selling price of an article is 8% more
than the cost price and the discount offered is 10%
on the marked price of the article, then what is the
ratio of the cost price to the marked price?

i< T T FT 0T ToF 7T T q 8% ATeF g 3
e & HThd T q(frﬂé’g‘{m%% av T qoF 3MT

Stfeohd T[T T AT FIAT 872
(a) 5:6
(b) 8:9
(c) 3:4
(d) 4.5




Q:-7. If the selling price of an article is 8% more
than the cost price and the discount offered is 10%
on the marked price of the article, then what is the
ratio of the cost price to the marked price?
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Q:-8. The number first increased by 16% and then
increased by 14%. The number, so obtained, is now
decreased by 30%. What is the net increase or decrease
percent in the original number (nearest to an integer) ?

T H 981 16% il Iig g5 o< T 14% Ft I g2 TH TR

| TH @31 ® o 30% it FHY S 1 G HEAT (U *
eheaw) ¥ = g IT FHT Taera #7872
(a) 6 % inc
(b) 7% dec
(c) no dec
(d) 9% dec
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Q:-10. In a circle with center O, an arc ABC subtends
an angle of 110° at the center of the circle. The chord
AB is produced to a point P. Then <CBP is equal to:
%% 0 9T Ueh 90 |, Teh 9197 ABC g1 % %ig 9 110° T
FIOT FATT HLAT gl StaT AB T U fog P d& S@1T SITa

2| T <CBP a<1a< 8T &
(a) 60°
(b) 55°
(c) 65°
(d) 70°
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Q:-11. The sides of a triangle are 10cm, 24cm and 26
cm. At each of its vertices, circles of radius 3.5 cm are
drawn. What is the area of the triangle excluding the
portion covered by the sectors of the circle?

T RS T S0 10 §HT, 24 THT 3T 26 4T g1 39

T T Ux, 3.5 HT a1 & g @i A1 81 I & @t
ST L ThT T AT T SISH ST T TR AT 32
(a) 81.5 cm?

(b) 100.75 cm?

(c) 75.75 cm?

(d) 78.25 cm?




Q:-13. Joseph bought two woolen jackets for Rs. 2100
and Rs. 3150 respectively. By selling the firstata gainof/ | = ||
k% and the second at a loss of k%, he found the selling T >/

price of both is the same. What is the value of k?

ST o & St Soha 9L 2100 ¥ MX 3150 T4 §
Gl T8t T K% o AT 92 3l G i k% i BT 9X

SR, I qrAT foF AT FT AT ToF U1 g1k T AT F41

(b) 22.64
(c) 15
(d) 25
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Q:-14. In a wallet, there are notes of the denominations of 10
and 50. The total notes is 12. The number of 10 and 50 notes
are in the ratio of 1:2. Total money in the wallet is:

T 92T H 10 3T 50 F eI & 1€ gl F A1 12 31 10 T 50
% Il i H&IT 1:2 % JATUTT H gl IET H FT AT 8

(a) 280
(b) 360
(c) 440
(d) 110
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Q:-15. The average weight of 16 boys in a class is 60.25
kg and that of the remaining 10 boys is 45.75 kg. The
average weight of all boys in the class is:

T HeT | 16 FSahi 7 Stead WX 60.25 FHuT 8 T 4w 10
TSI FT 45.75 THUT 1 F&T H THT A1 F71 T AL &

(a) 56.27

(b) 55.37
(c) 54.67
(d) 53.76




Q:-9. If (x + 6y) = 8, and xy = 2, where x > 0, what is the value of (x3 +
216y3) =?
Tfe (X + By) = 8, X x+y = 2, Tl x> 0, (X3 + 216y3) FT AH FAT2?
(a) 476
. (b) 368
| (c) 224

| (d) 288




Q:-10. In a AABC, points P, Q and R are taken on AB, BC and
CA, respectively, such that BQ = PQ and QC = QR. If <BAC =
75°, what is the measure of <PQR (in degrees)?
u% ABC #, g P, Q 3 R %7 ##HaT: AB, BC 3% CA T 39 TH1X
ferar sTaT 2 % BQ = PQ 3T QC = QRI 7fe <BAC = 75°, <PQR

| (=T &) &7 /719 FAT 82
CINE
(b) 50
(c) 30
(d) 40
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Q:-11. A certain sum is deposited for 4 years at a rate of 10% per annum
on compound interest compounded annually. The difference between the
interest at the end of 2 years and that at the end of 4 years is Rs. 5,082.

Find the sum (in Rs.) ?

s fAfsra iy g Tl sams 9 10% T a9 #it I H 4 97 & g

L STHT 6t STt g1 2 99 & ofd | 3T 4 99 & 3(d | sFTST o o= T Aa< 5,082

T gl T AT hiforT (T H)
(a) 20000
(b) 10164
(c) 50820
(d) 25500
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Q:-12. The ratio of the monthly incomes of A and B is 11:13 and the ratio
of their expenditures is 9: 11. If both of them manage to save Rs. 4,000
. per month, then find the difference in their incomes (in Rs.)

|
AsﬁTBaﬁmﬁmmmwﬂ 13 8 3T a6 T T FquTd 9:11 g1 I

%aﬁﬁa@ﬁrﬁ%‘rwwmﬁ%n 4,000 T /T, AT ST 3T H Fq< AT
| fiforT (x0T #)

(a)4000

(b)2500

(c)3000

(d)3200
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Q:-13. A solid cube of side 8 cm is dropped into a rectangular container
of length 16 cm, breadth 8 cm and height 15 cm which is partly filled
with water. If the cube is completely submerged, then the rise of water
level (in cm) is:
8 THY ST AT U SIH & [ 16 T TS, 8 FHY AMSTS < 15 FHY AT
| 9T T IATHRIE 9T | T S1av @ S A9 €9 § gt 9 9 giatl 2l

i< o9 9XT 938 AT I 8, AT I« &< ¥ Fhg (AHT H) =
(a) 6
' (b) 4
(c) 2
(d) 5
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Q:-14. An item costs Rs. 400. During a festival sale, a company offers a
sale discount that offers X% off on its regular price along with a discount
coupon of 10%. The price of the item after using both the sale discount
and the discount coupon, is Rs. 216. What is the value of x? T# a& T

HHa €. 400.
| T BT Tosht & I, Teh FHa1 Ueh folsht g T Hidl g S 10% *

TRTRTSE I & AT (I MITHT T 9T X% T F& T<TH FLdt gl fasht ge
3R G FTUT AT T START A o ATS TE i DA T9F 8l 216. X HT qTH




Q:-15. If x + y +3=0, then find the value of x® + y3-9xy +9 = ?
Tfe X +y+ 3=0, ar x3+ y3-9xy +9 = ? T HIT ATq HIST?

(A)-36
(B)-18
(C)36
(D)18




Q:-16. Find the value of the following
expression:

Ao s4sTeh T HTH ST shifoTU;
372 + 56 x 7-5+2

(a) 58

(b)43;
(c)-2

93
(d)2 o2







